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0ooo(@oo)

0000,00y=f(x)00000000O0O0OOOOOOOO.OODO
0,00 z=f(z,y) OODDOO,0000000000O0DOO0O0O0OOO
Oo0o0o0o0.000000,00 2= f(z,y)UOOODOOOODOO
uboooobooboobboo. oo, 0bo0boooboboobooo
obo0o,0bobo,Frrg0ob0ooob0oo,obobobobob
uboooboobbooboobon.

-0boobogboobooboobooboboobooobooobooo

gooooboobobooo,oooboobobooooboboboooo
oo.
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OO0OD0O0O0O0% bigskip, medskip, vspace, hspace D OO0 OO0 " O
“ J0000"0O00o0ooooOoooooooooo.
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Oo00o0oooooooooooooo20000o00a:

rgb ... Red, Green, Blue0 30000000000

cmyk ... Cyan, Magenta, Yellow, [K] BlackO 40000000000
odoooooooooooooodo emykO0 0o, 00oooooo!
O definecolor{skyblue}{cmyk}{0.2, 0, 0.1, 0} OO OO
O100000000000o0,

020000000000 (D000 cmyk),
O30000000000000000o00O00 100

oo0oooog.

ubobooobooboobobooboo.

booooobooboo,0boobooobbooboooboooon
oooboooo
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000 (blockDODODODO)

00 (block O O)

blockUODOOODO, 0000O0O0OO0ODOODODO.
oo, 00bobooboboobon.

00O (alertblock 0 0O)

alertblock DO O0OOO,000000DOOODOCOOO.
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD.J

O (exampleblock O 00 ')

exampleblock DO O00O0O0, 000000O0OO0OOOO.
ubobobbooboobboboboon.

v

oo 2
[DDDDDI:ID 200000000110 aIerthockDDDDDDD.]

T. Yokota (TUS) oooooo 20120 110 270 6/8



blockUO DO OOODO

00 (10000)

b0 0000,001000y00000O00O0O0OOODOO0O,
obooool1oboboobo,oboo

y = f(x)

obo0. 0000, y0 000000000, 20000000.
y=f(x)0000,00 0000000000 OODOOOOOO
oo0,0b0bo0bobooboboboboobooobooooon
ooo.
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